



Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

01/28/2020 09:00 AM | Trussing install Stage 2 01/29/2020 09:00 AM | Revelry install Stage 2 01/30/2020 09:00 AM | Install Day 2

01/30/2020 09:00 AM | Install Day 2 01/31/2020 09:00 AM | Install Day 3 02/01/2020 09:00 AM | Touchups & Additions 02/01/2020 04:00 PM | Event 02/02/2020 07:00 AM | Strike PO: Shipping Address: The Lot on Formosa Stage 1 & Stage 2 Mindy Weiss

232 South Beverly Drive Suite 200 Beverly Hills, CA CA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Additions 1/30					
Whole	Tokyo Sofa - Hot Pink	2	\$550.00	Т	\$1,100.00
60	Miami Coffee Table - Double Loop custom green color	2	\$250.00	T	\$500.00
B	Miami Accent Table - Loop custom light blue	2	\$150.00	Т	\$300.00
	CANCELLED: Ottoman Pods 18"D bright dupioni colors yellow green pink blue	12	\$50.00	Т	\$600.00
	CANCELLED: Accent Pillows bright dupioni colors yellow green pink blue	12	\$0.00	Т	\$0.00
0	DJ Booth - Oval (silver) frame in custom hot pink	1	\$550.00	T	\$550.00
	Oversize Props - Picket Fence - Various Sizes Need to create a 8â® & 8â® \$square with fence baby pink hot pink yellow green light blue dark blue purple	1	\$850.00	Т	\$850.00
	Shield Covers 9" x 19" (40) in white 9â\(\text{lx} \) 19â\(\text{lx} \) (40) in black 9â\(\text{lx} \) 19â\(\text{lx} \) (20) in green 9â\(\text{lx} \) 19â\(\text{lx} \)	1	\$450.00	Т	\$450.00

Description		Qtty	Price		Total
	LED Chrome Benches Shipped to Revelry	5	\$0.00	Т	\$0.00
	Boxes Stuffed Animals Shipped to Revelry	1	\$0.00	Т	\$0.00
	Pink Lycra Entrance Drape	1	\$2,600.00	Т	\$2,600.00
	Black Velvet Exit (Bathrooms) Drape	1	\$1,800.00	Т	\$1,800.00
	Blue Troll Room Drape	1	\$1,650.00	Т	\$1,650.00
	Purple Troll Room Drape	1	\$1,650.00	Т	\$1,650.00
		T	otal Additions 1	\$12,050.00	
Addition					
	NEW Pedestal 14" x 14" x 42"H	3	\$300.00	Т	\$900.00
	NEW Pedestal 14" x 14" x 36"H	3	\$300.00	Т	\$900.00
	NEW Pedestal 14" x 14" x 30"H	3	\$300.00	Т	\$900.00
	Las Vegas Dining Table - 8'x40" Top and base painted hot pink; client to provide logo branding	2	\$750.00	Т	\$1,500.00
			Total Addition		\$4,200.00
Stage 1					
	Perimeter Constellation LED Drape 36'H x 500'L to create a perimeter around stage 2 **need trussing for rigging support**	1	\$21,850.00	T	\$21,850.00
	Moscow Circles Hand Rail 8'L 94"W x 46"H	24	\$300.00	Т	\$7,200.00
	Moscow Circles Hand Rail Corner Piece 46"H	4	\$200.00	Т	\$800.00
			Total Stag	e 1	\$29,850.00
Food Court					
	Restaurant Style Round Picnic Table PAINTED HOT PINK	4	\$500.00	Т	\$2,000.00
	Straight Light Up Deco Bar 5'L to be used as 10'L	2	\$600.00	Т	\$1,200.00
	Deco Barback w. Light Up Columns PAINTED PURPLE	1	\$400.00	Т	\$400.00

Description		Qtty	Price		Total
	New York Bar 6'L with LED Glow and flat fronts - Client to drill into the front to hang Neon Signage	5	\$750.00	Т	\$3,750.00
	Straight Barback 6'L PAINTED HOT PINK	1	\$250.00	Т	\$250.00
	New York Bar 8'L with LED Glow and flat fronts - Client to drill into the front to hang Neon Signage	2	\$850.00	T	\$1,700.00
الدان با	Chocolate Drip Table - 12' PAINTED PURPLE (SEE ANGIE BEFORE PAINTING)	1	\$850.00	Т	\$850.00
			Total Food Co	urt	\$10,150.00
Merch Store					
	Custom Paneling Facades to create abstract merch store	1	\$25,000.00	Т	\$25,000.00
	Ceiling Drape - baby pink for a 16' x 20' truss baby pink heavy lycra	1	\$950.00	T	\$950.00
	(Outside) Side Wall Drape to conceal the trussing support for (2) 16' x 10'H truss black Heavy Lycra	1	\$450.00	Т	\$450.00
			Total Merch St	ore	\$26,400.00
Stage 2					
	Perimeter Drape for Entrance Tunnel for a 18' x 30' x 16'H Truss black drape	1	\$2,750.00	T	\$2,750.00
	Ceiling Drape for Entrance Tunnel for a 18' x 30' x 16'H truss Black flat heavy lycra	1	\$2,300.00	Т	\$2,300.00
	Black Iridescent Fringe 18'W x 20'H double layered; to conceal entrance into the enchanted forest	1	\$2,250.00	T	\$2,250.00
			Total Stag	e 2	\$7,300.00
Enchanted Fores	st				
	Perimeter Drape - Green Velvet for additional details; or concealment	1	\$950.00	Т	\$950.00
	Imagery Drape - Enchanted Forest 20'H x 40'L pieces to create backdrop for the trees etc.	4	\$1,750.00	Т	\$7,000.00
	Black Iridescent Fringe 18'W x 20'H double layered; to conceal entrance into the enchanted forest	1	\$2,250.00	Т	\$2,250.00
		To	tal Enchanted For	est	\$10,200.00

Description		Qtty	Price		Total
	Custom Laser Cut STORMI Letters	1	\$3,300.00	Т	\$3,300.00
	Perimeter Drape - Green Velvet for 30'D x 24'H truss	1	\$4,600.00	Т	\$4,600.00
	Ceiling Drape - Green flat heavy green lycra	1	\$2,300.00	Т	\$2,300.00
	Round Bar 12'D Reclaimed wood top; frame to be painted Modern Masters Antique Bronze	1	\$2,600.00	Т	\$2,600.00
		Tota	Total Kiosk Round Room		\$12,800.00
Troll World					
	Perimeter Drape - Rainbow approx 12'W x 22'H of (7) Colors: Pink Baby Pink Sherbert Orange Soft Yellow Lime Green Baby Blue Soft Purple	1	\$6,500.00	Т	\$6,500.00
	Ceiling Drape - Rainbow all fabric to come to center point	1	\$3,150.00	Т	\$3,150.00
	Mushroom Table - Multi Color	3	\$200.00	Т	\$600.00
	Mushroom Stool - Multi Color	9	\$90.00	T	\$810.00
			Total Troll Wo	orld	\$11,060.00
Frozen Tunnel					
	Wooden Armoires to serve as a 'doorway' into the tunnel *client to add frosting details	1	\$1,250.00	T	\$1,250.00
	Perimeter Drape - White for 12' x 24' x 16'H Truss White pleated sheer with backing	1	\$4,500.00	Т	\$4,500.00
	Ceiling Drape - White for 12' x 24' truss flat heavy white lycra	1	\$3,000.00	T	\$3,000.00
	Metal Waves Props 4' X 8'x 6'H Metal Waves - Wave Cover	9	\$750.00	Т	\$6,750.00
			Total Frozen Tun	nel	\$15,500.00
Frozen World					

Description		Qtty	Price		Total
	Ceiling Drape - White for a 36' x 46' Truss pleated white sheer with backing	1	\$6,500.00	Т	\$6,500.00
	Perimeter Drape - White for 36' x 46' x 25'H Truss pleated white sheer with backing	1	\$9,500.00	T	\$9,500.00
			Total Frozen Wo	orld	\$16,000.00
Rainbow Neon	Tunnel				
	Perimeter Drape - Black for a 16' x 62'L x 16'H truss	1	\$4,150.00	Т	\$4,150.00
	Ceiling Drape - Black for a 16' x 62'L truss	1	\$3,200.00	Т	\$3,200.00
	Abstract Arch with LED **with color changing LED** BABY PINK HOT PINK YELLOW NEON GREEN LIGHT BLUE DARK BLUE PURPLE	7	\$1,750.00	T	\$12,250.00
	Iridescent Fringe	1	\$2,250.00	Т	\$2,250.00
	16'W x 16'H double layered to create an entrance into the tunnel	Total R	ainbow Neon Tun	ınal	\$21,850.00
Services		Totalit	anibow recon run		Ψ21,000.00
	Installers: Install Wednesday	14	\$500.00		\$7,000.00
	Installers: Install Thursday	14	\$650.00		\$9,100.00
	Installers: Install Friday	14	\$650.00		\$9,100.00
	Installers: Touch Ups Saturday				
	metamerer reason ope catalaay	14	\$500.00		\$7,000.00
	Installers: Strike Sunday	14	\$500.00 \$650.00		
					\$9,100.00
	Installers: Strike Sunday	14	\$650.00		\$9,100.00 \$2,800.00
	Installers: Strike Sunday Trucking: 24'L	14 7	\$650.00 \$400.00		\$9,100.00 \$2,800.00 \$2,800.00
	Installers: Strike Sunday Trucking: 24'L Certificates: Flame Proofing	14 7 1	\$650.00 \$400.00 \$2,800.00		\$9,100.00 \$2,800.00 \$2,800.00 \$5,000.00
	Installers: Strike Sunday Trucking: 24'L Certificates: Flame Proofing Custom Artwork: Hand Painted	14 7 1	\$650.00 \$400.00 \$2,800.00 \$5,000.00		\$9,100.00 \$2,800.00 \$2,800.00 \$5,000.00 \$3,600.00
	Installers: Strike Sunday Trucking: 24'L Certificates: Flame Proofing Custom Artwork: Hand Painted Manager: Layouts & Design	14 7 1 1	\$650.00 \$400.00 \$2,800.00 \$5,000.00 \$3,600.00		\$9,100.00 \$2,800.00 \$2,800.00 \$5,000.00 \$3,600.00
	Installers: Strike Sunday Trucking: 24'L Certificates: Flame Proofing Custom Artwork: Hand Painted Manager: Layouts & Design Manager: Onsite Equipment Rentals	14 7 1 1 1	\$650.00 \$400.00 \$2,800.00 \$5,000.00 \$3,600.00 \$2,600.00		\$9,100.00 \$2,800.00 \$2,800.00 \$5,000.00 \$3,600.00 \$2,600.00
	Installers: Strike Sunday Trucking: 24'L Certificates: Flame Proofing Custom Artwork: Hand Painted Manager: Layouts & Design Manager: Onsite Equipment Rentals (6) 36'H Scissor Lifts **Client to Provide**	14 7 1 1 1 1	\$650.00 \$400.00 \$2,800.00 \$5,000.00 \$3,600.00 \$2,600.00 \$0.00		\$9,100.00 \$2,800.00 \$2,800.00 \$5,000.00 \$3,600.00 \$0.00
	Installers: Strike Sunday Trucking: 24'L Certificates: Flame Proofing Custom Artwork: Hand Painted Manager: Layouts & Design Manager: Onsite Equipment Rentals (6) 36'H Scissor Lifts **Client to Provide** Supplies: Misc	14 7 1 1 1 1 1	\$650.00 \$400.00 \$2,800.00 \$5,000.00 \$3,600.00 \$0.00 \$3,600.00		\$9,100.00 \$2,800.00 \$2,800.00 \$5,000.00 \$3,600.00 \$0.00 \$3,600.00 \$7,000.00
	Installers: Strike Sunday Trucking: 24'L Certificates: Flame Proofing Custom Artwork: Hand Painted Manager: Layouts & Design Manager: Onsite Equipment Rentals (6) 36'H Scissor Lifts **Client to Provide** Supplies: Misc Production: Rush Fee & Overtime	14 7 1 1 1 1 1 1 1 1	\$650.00 \$400.00 \$2,800.00 \$5,000.00 \$3,600.00 \$0.00 \$3,600.00 \$7,000.00		\$7,000.00 \$9,100.00 \$2,800.00 \$2,800.00 \$5,000.00 \$3,600.00 \$3,600.00 \$7,000.00 \$2,500.00 \$1,600.00
	Installers: Strike Sunday Trucking: 24'L Certificates: Flame Proofing Custom Artwork: Hand Painted Manager: Layouts & Design Manager: Onsite Equipment Rentals (6) 36'H Scissor Lifts **Client to Provide** Supplies: Misc Production: Rush Fee & Overtime Misc: Subrental & Shipping Costs	14 7 1 1 1 1 1 1 1 1 1 1 1	\$650.00 \$400.00 \$2,800.00 \$5,000.00 \$3,600.00 \$0.00 \$3,600.00 \$7,000.00 \$2,500.00		\$9,100.00 \$2,800.00 \$2,800.00 \$5,000.00 \$3,600.00 \$2,600.00 \$3,600.00 \$7,000.00 \$2,500.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full

Please ready the contract and sign it

Notes

Total Products: \$177,360.00

Total Labor/Services/Misc: \$74,400.00

Taxes (tax excempt): \$0.00

Discounts: (\$450.00)

Total: \$251,310.00

Payments: (\$251,310.00) Balance: \$0.00